Subtraction word problem:

Numbers up to 10

In each case solve and answer in the spaces provided.

*—>» Naomie has 8 bunchs of red roses. She gave 2 to her

friend. How many bunchs does she have now?

» Simon has 10 marble balls for a competition. He has been

defeated and lost 6 marbles. How many does he have now"?

» Mr. Auguste has 6 bulls. He sold 3 yesterday. How many

does he have now?
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Numbers up to 10

In each case solve and answer in the spaces provided.

*—> Naomie has 8 bunchs of red roses. She gave 2 to her
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*—> Simon has 10 marble balls for a competition. He has been

defeated and lost 6 marbles. How many does he have now?
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> Mr. /A\uguste has 6 bulls. He sold 3 yesterday. How many

does he have now?
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